TRSERAN A (1 FE REE &

G % 5 4E 38

PN SRvA =R 25

w & ZH Birs
BIEEEFERZOBINEIZ OO T(BHLE)
SHSEEDFER B ONTTROLBIBHLELET,
1. EEE T2 EE bR % E &
BB M i B & 4
£ FE IR 140
2 B F & 800
OB B wm A B B 700
0y k— B 3,520
4\ F 5,160
% OB E K ‘ 4,000
FEHME  [0,800M) G50/ #O00H) - F O 4300} 3,550
HEREH 2HIREEE  |[HSHonme. BEEHEe 3,500
EBEBEE  |wany crasmEk ERoE % 11,360
/I8 &t 22,410
w4 ¥ F |ars 5,000
L oo ® 1,350
% = = B % 500
2 B 6,850
M #® 580
= = 35,000
2. 3% EESCERERE
(T = A ER i ' L % 2]
Ao 3 4 3R = Ei?.'%; Iy :
—— L2l %;ﬁ gt R 500
I &t 500
2 e & b B HE
— Boa o jé_’ ] B s b L 4,000
/I8 &t 4,000
=) &t 4,500
3. HiERTH - EESCER 3 ERERITHE N A
B B N ER . 1 = & 2}
_ £ 1 # 35,000
g 2 H 40,000
g,s;l‘ —
BRRITE = 3 | 40,000
B 4 # 40,000
& Hi 155,000




